=5k E175R4 JURE

BTFEaTE WolEE (b

ZIEE

{&1FE HEF : 114/04/01

BHX| frE | QID AR HEEEAE
/\ ] \
- = "HIHHHIHIHH.HIIH}HH H\IHH
1-22| @) |372018 i\ f o\
\ \ /
R ERSHS " s oo E2SHIER BR EDR |- - - TR BRI B s e EEEE ERSES
1-23| %108 | 371005 EEHRR Vol - RMBHER - IR ROV, » - BB
Vol » - AV % > -
2-64 | % 52 | 371253 |- I {E]EE HE - - B BRI I -
2-71| %29/ |371293|(B) -5V (B) -1.5V
2-73| (@27 [377722 |ACL00) AC110V
3-31 | 45 1278 | 371430 |(C)--- » Hf[EEEALjfiT EE - (C)--- » HEZE B -
3-36| #2177 '“VCC=><Rc+VCE e *Vec=lc xRc+Vcg > -+
Ve (Ve=Vee —leRe) || *Vee (Vee=Vee - le (Re+Re)) V
43| 1T - Ve =V
3-43 | F91T |B(|B:Vc VBE) |- lg (1g= CE BE ) | ...
Rg Rg
3-49| #317 (2) R (2) G-
FE s
3-81 | & T8 (371537 |-++10/C ---10.D
i 10
4-44| () |371668 [ AL 1 Vo~ Zy A Vi~ Z,
4-44 | [E(7) |371671 [ Ak ¢ Vo i A ¢ Vi
4-45| [E@®) |371672 | Ads * Vo ~ Zp i A - Vi~ Z
4-50 | [E(24) |371702
i (A)Vi= "'(B)Vi= (A)V0= "‘(B)Vo:
4-55 | 17 j8 | 377757
(C)Vi= “‘(D)Vi= (C)Vo: ”’(D)Vo:




4-57 | %200 |377760 g:e o %:: %L STk

ﬁ%’? Eﬁﬁ% 371686 ~ ~39.29

ﬁsz giﬁﬁ% 37178212. Vo £20mV--- 2.Vo=120mV---
112-7| %328 |387074|(1) FET it 7i--- (1) FET i ABH$T---




